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What is the area of the region bound by the graphs of f(z) = = +3g() 2r + 6,and 05

quadrant 1?7
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What is the area of the region between 2 consecutive points where the graphs of f(z) = cos(z) and
—g(z) = — cos(x) + intersect?
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Choose 1 answer:
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12
The curve = = 3 cos(y) + = is graphed.
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What is the area bounded by the curve, the 1-axis, the Iin{: o and the line y = 2nj
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The curves & = y° -ry—‘.-'!-lanii—Sy are graphed. T
e j +J)-1= 3 j
C J L t

3:37‘ 2‘"2(3_,2%:0

. ol gt

" & o

s § 3 =(F 32Ny

—

r=1"+y—2

Choose 1 answer:

L
b
:



https://seraj-uae.com/file/6443/

a=1)
E‘f -\ 0 Uf}
A= S Z*"?&L’*Q?ll)J% Az = g 7&(7«—73)9%

/

o)

\-—_-_'_"“‘—-—-—-—..._
(\ _
: \ \5

) L/ =
S / 4% ;A/
s

8= 16 2
> -AW S 6 \
=l S =ATS
T il 2N _
6=T o Srafrs % i

z
_.-
—-

u)a) 5 L%))o’&w—/)g
:(g);

S

QU EN ;
&= T+O o< 26
G YTJ#/‘_?: O -

- | BN &= A

-3 — BT


https://seraj-uae.com/file/6443/

